Agent/System Behavior:
· An initial number of iPhone and Blackberry customers are chosen, based on the initial conditions of each tech. This distribution is fairly random, as the initial conditions of each corporation are the same.
· As time passes:
· Each technology spends money on either technology or marketing, as their funds allow them to buy something
· They gain money based on how many customers they have
· They spend money based on sliders dictating where they should spend money
· Tech increases a variable that shows their cumulative technological advantage
· Marketing increases the color for one block, by one gradient. iPhone spending makes one block slightly lighter, and Blackberry spending makes one block darker.
· Every 5000 ticks, one customer joins the environment.
· Every 100,000 ticks, all the customers remake their decision on which technology they have.
· Each technology choice is dictated by each customer’s personal preference.
· Group preference: customers prefer to choose what their friends have
· Tech preference: customers prefer to choose the technology that is the most advanced technologically
· Marketing preference: customers are more easily influenced by marketing

Rationale for Agent Behavior:
· Each corporation starts with the same statistics to model a fair and equal playing field. It is the corporations’ decision on how to spend their money that influences customers’ choice.
· Technological investment is represented by just one number. This is a fairly realistic representation. Customers choose based on a random distribution of the comparison of numbers between the two technologies. If one company consistently spends more money updating their tech, customers who truly value tech into their choice will be more likely to pick that company.
· Marketing is represented by a gradient for the patch. Customers that are more influenced by marketing are more likely to choose the technology that has a greater influence in their particular patch. Marketing is represented by a gradient and not a single color because it is rare for technologies to completely dominate a specific area with marketing. It is generally a distribution of influence.
· Each “upgrade” costs a certain amount of resources for the companies. This is to simulate the significance of how many customers each company has. As a company gains more customers, it has more resources, so it can be more free to buy things. 
· Every 100,000 ticks customers remake their decision to model the current mobile industry, where every 2-3 years customers can renew their contract to buy a cheap phone. This also makes it possible for technologies that make the right choices in spending to make a “comeback”.

Model Output:
· Patches represent the marketing influence each technology has. Black stands for Blackberry, light blue represents iPhone
· Graph comparing iPhone and Blackberry customers over time
· Number representing the amount of money each technology has invested in technology

Questions:
· I’m not quite sure how to make my recursive function not crash NetLogo
·  Technological upgrades should cost more and more to upgrade over time, whereas marketing should not. How do I program this without making it much more likely for the technology to choose marketing as an option to pour money into? Or is that actually realistic for what happens?
· Customers don’t generally have an even distribution for what they prefer. How do I make this more realistic?

Next Steps:
· Fix the recursive memory issue which crashes NetLogo
· Make technological upgrades cost more and more over time
· [bookmark: _GoBack]Make new customers an inverse logarithmic function, to model how initially a ton of customers flood in, and it quickly tapers off
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